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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

00 . i N IA\ VAVA\NJHUAU’\‘\VH\ |
N
300 W | ﬂ '\/\/\' ‘;\ff i m\
U o
200 ! - | UE
100 , ;
g BT ——
25.0 | \/\’\,-
. LA A/ A
wol AN AT Y Y -
asl VLWL ATY
wol | AR [ !
12:5 U V !
" —- N
60 ~ N 'U MW \V/\_,\ : \
Jo WLt VT
N Al
40 \\/, E
1500 /- ' i M A o
500 K'Y //mr\! i \&{\_
A ; A
2.5 \_‘ —
2.0 // \
S \\
. e \
— \

5 100 125 150 175

1.4

4 A [, g ——
;6 fI Y
ml

——
<]
—
=
—
7
=
>
T
Y
<

0 25 50 75 100 125 150 175



400

300

200

100

Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]

A/\/H

setVI_ETcl
setVIl_fgRec
setVIl_VN
s|SetVI

= e csc=csass2s

-\ / \ AW o1% § 50000 6004 0004 00000004 - 000
a /e e | 1
A ""%“ ¥ |
baheesesttettpsile U |
6 15 20 30 40 50 60 l 70



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-6

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

08:35 268 150. 0 2.583 F|  FiHAe08:35 KREFEF (RA{LREIEE
09:25 268 150.0 2.583 5| FHRe09:25 KENFEF (KRAEEES)
10:25 268 150.0 2. 583 5| FEAe10:25 KEFEFE CGRAEEE)
11:20 268 150.0 2.583 5| FHA@11:20 KENFEF CGRAMEEEE)
12:10 268 150.0 2.583 = FHEA@12:10 KENFZEF (GRAMEEEE)
13:00 268 150.0 2.583 5| FHEA@13:00 KENFEF (GRAIEREEE)
13:50 268 150.0 2.583 5| FHAe13:50 KEIEFE CGRAFESE)
14:45 268 150.0 2.583 = FhHA@14:45 KENFEF (CGRAMEEEE)
15:45 268 150.0 2.583 5| FHA@15:45 KENFEF (CGRAMEREE)
17:05 268 150.0 2.583 5| FEAe17:05 KEIEFE CGRAMFESE)
23t 2680.0 (100%) 1500. 0 EWHKEC: 2080.0, PH: 5.6
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P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R
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P3-6

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

08:40 273 150. 0 2.583 Z| {Ri%e08:40 Bz (KREAEZHE)
09:40 273 150. 0 2.583 |Z=&| 1BRi&e09:40 Bzh (RAEREE)
10:40 273 150. 0 2.583 |Z=| {Ri&e10:40 Bz (GREAERSE)
11:35 273 150.0 2.583 FA| {Ri%@11:35 Bz (GRAERE)
12:30 273 150.0 2.583 FA| 1Bi%@12:30 B3 (KRAEREE)
13:45 273 150.0 2.583 FE| 1BRi&@13:45 Bzh (RFAEREE)
15:25 273 150.0 2.583 FA| {Ri%@15:25 Bz CGRAERE)
23t[1911.0 (TR 1050. 0 3EGHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (446:132.0), set to 446 ml.
[2]/&REC 6037.0 K&, EiUAKECHAIMIAER
BE[EIKRECE (2007. 0 vs 6037.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=64 (2025-06-01)
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P3-6

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

06:05 278 150. 0 2.583 FE| 1RRi%@06:05 Bz (FREAHERESE)
07:05 278 150.0 2.583 FE| 1RRi%@07:05 B (KRS
08:05 278 150. 0 2.583 FA| {Ri%@08:05 Bz (kAMEEEE)
09:05 278 150.0 2.583 FA| {RRi%&@09:05 Bz (RAMEEEE)
10:05 278 150. 0 2.583 FH| 1Ri%@10:05 Bz (KRS
11:05 278 150. 0 2.583 FE| 1Ri&@11:05 B (RS
12:20 278 150.0 2.583 FA| {Ri%@12:20 Bz (GGRAEEE)
14:20 278 150. 0 2.583 [/hil| 1Rige14:20 Bz (RAFEREE)
2it]2224.0 (8%) 1200. 0 3283 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (369:174.0), set to 369 ml.
[E]/&EC 6020.0 K7, EiUAKECHAIMIAERR
PBE[EIRECE (2087. 0 vs 6020.0) i 5
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=63 (2025-05-31)
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P3-6

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

06:10 278 150.0 2.583 FA| 1B2i%@06:10 B3zh (RAB{ERESE)
07:00 278 150.0 2.583 FE| 1BRi&@07:00 Bzh (RAAEREEE)
07:50 278 150.0 2.583 FA| 1BRi&@07:50 B3h (KAIEREEE)
08:40 278 150.0 2.583 FA| 1B2i%@08:40 Bzh (kPBIERESE)
09:50 278 150. 0 2.583 FA| {Ri%@09:50 Bz (kAMEEE)
10:50 278 150.0 2.583 FA| 1BRi%@10:50 B3h (KAEREEE)
11:40 278 150. 0 2.583 FA| 1BRi%@11:40 Bzh (RkAIEREE)
12:20 278 150.0 2.583 FA| {Ri%e@12:20 Bz (GRAEEE)
13:05 278 150.0 2.583 FA| 1BRi%@13:05 B3h (KRAERSE)
13:50 278 150. 0 2.583 FA| 1B2i%@13:50 B3h (kAIEREE)
15:00 278 150.0 2.583 FA| 1B2i%@15:00 B3h (KRABERSE)
16:20 278 150.0 2.583 FA| 1BRi%@16:20 B3h (KRAMERESE)
24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (398:156.0), set to 398 ml.
[/KEC 6470.0 K&, EILMIRECAZMITER
BEEIRECE (2220. 0 vs 6470.0) i 5
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